AT % = T =55 e Hi =N == BTN
=2 * 4 FHETCRIESI D EHEE
it T % Pt BINTHR#H =T BN
T =2 P BILFE/NERX R RIRE Y 7 7 BR LE e A FIICeES A
Fq 2| EATEIRG
T = = i R AR
(NTEE BitE 4 %E M)

T E:13 SF2EIHI0ERY | E i & E T

T % % x e il il H

B/ NER OB R R IRE Y 77 2R T 5 THE

B/ NERX R IRE Y 77

- REFERET
« JEPRHIFE144. 90m2




Tl
>j

2

o |

il

#H

1

7 w >
A (H) (M)
B/ N GR% IR E Y 7 7R LEF

A |EETLEE
A-1 |k T

1.0 | 5
A-2 (o TEHE

1.0 | 5

A-Et




X H il | 4 N
N = fir () (1)

A |EETLEE

&
B-1 |HdEEEE (—RILE)

&
B-2 [LdEERE (O TE)

&
B-3 [FLEEEE (FL)

&
-1 |BEHEHE (—KI1HE)

&
C-2 |HGEHEE (ZoMmIE)

&
D |BEMLSE

T=J5




Tl
>j

o |

il

#H

1

P 2 ;
fir () (F)

—ERE

Lo | st
THifh

Lo | st
R 5

Lo | st

T=H%E




)

- ..

M W B fff | 4 | 1w
fir ) (1)
A-1 | —fx T
A-1-1 |EEET=E
1.0
A2 |BREiR LF
1.0
A-1-3  |BEHGR IR L5
1.0

A-1-2F




)

- ..

B
N 2 = filli | <& | hE
A (M) M)
A-1-1 |#EsET =
1 [EREZ G R
.0 | X
2 +T=
.0 | X
3 RAn T H
.0 | X
4 )= L&
.0 | X
5 BIPET =H
.0 | X
6 BhK =&
.0 | X
7 H1E
.0 | X
8 ATEH
.0 | X
9 BIRE S T%
.0 | X
10 |(&FE1T=HE
.0 | X
11 |([EEL=E
.0 | X




)

- ..

B
N 2 =% filli | <& | hE
A (M) M)
12 |&RfRETE
.0 | X
13 | REFEAETE
.0 | X
14 | IALE
.0 | X
15 |BETE
.0 | X
16 |[PAMETE
.0 | X
17 |2y R OZEOMTHE
.0 | X
18 |EHEEIEIRT=HE
.0 | X

A-1-1-FF




)

- ..

B
N 2 =% fili | & | hE
A (M) M)
B TH
BV H
157.0 | m2
BHL
MR- £ 145.0 | m2
4
MR- £ 145.0 | m2
ICEidaRN]
145.0 | m2
% T RHE i
145.0 | m2
< SUEHEES
FEHITE600 242.0 | m2
ST R 35
i 5] 157.0 | m2

1-5F




- /\:::
==k

™ : % B |H fif | 4 |
A (M) (1)

+T=
SV
1 S 300mmfE 41.1 | m3
HWERL
Ed 23.3 | m3
FRAT T

145.0 | m2
W i3
NIRRT FEM 18.1 | m3
lyapiA
K Yxfvy74vht0. 15 148.0 | m2
EIERE

1.0 | X

2-%




N

- ..

B
P ' = filli | <& B 5
(A (M) M)
N A
EIE R
SD295A D10 0.03 t
HIE R
SD295A D13 3.4 t
AI7y7" TR
—-0. 09 t
PR ENE
4t IE 3.3 | ¢t
R0 AR AT
3.3 t

3—&t




-

N N
N N == fili | 4= B |
(A (H) M)
a/)) - L&
Heay ) =)
Fm—18%15%25 1.6 | m3
ERIEVZUR
Fm—18%15%25 0.4 | m3
FopEay )=}
Fm—24:%15%25 31.0 | m3
Al s=VZA /B
Fm—24:%15%25 1.1 | m3
1)) - TR FE 1.0 | =X
1 5 5 A IE 1.0 | =X

4-3t




)

- ..

5 ol i | % |
2 = = A () M)

BIPE T =
W B e

K 7]
5 T e
g‘éégﬁﬁﬁ w67 | o
4t HL

53t




)

- ..

=
A 2 = it | <& |
T (M) (M)
BhK =
(4M5)
AW Y Y-
MS-2  15%10 91.5 | m

6-3t




)

=
o 2y = fili | 4= FH | s
A (1) (1)
H1E
(NED)
An—7" HE
)54 110%50 23| m

-




i

" ..

%

il

AWA

(il
(1)

o2

1

AT

(F&EH)

+t&

KARBLIEE A 120%120 14.0

19.

fEHEAE

KD 120 13.0

fEHEAE

F2KD  120%120 1L4.0

¥

F2KD  120%120 14.0

21.

A

F2KD  120%120 1.3.0

30.

&
KARKD

45%90 14.0

20.

&
KARKD

45%90 L[3.0

26.

72

KARKD

120%120 [4.0

19.

72

KARKD

120%180 [4.0

33.

7
KARKD

120%210 [4.0

12.

ot ko o ko o ko o ko k




- ..

B,
N 2y = 122) fili | & W

A ™) M)

‘\7@

AKARKD 1204240 L4.0 6.0 | &

‘\7@

KANKD  120%270 L4.0 12.0 | &

‘\7@

KAAKD  120%300 L4.0 10.0 | &

KFT

KAAKD  105%105 L4.0 7.0 | A

1S9

KAAKD  105%105 L4.0 22.0 | &

EA

KD 45%90 L4.0 68.0 | &

BRIEA

FKD  45%30 L4.0 68.0 | &

v

#KD  45%120 L3.0 132.0 | &




:

e ..

B
M % B i | 4 4|

A (M) M)
(&#1)
B M AR
EEARFEI MRELS 80.6 | m2
Wbt
IR VATV E50 80.6 | m2
B M AR
TS A SR t12 80.6 | m2
PR T #h
TS AR t9 128.0 | m2
PR T #h
a2 128.0 | m2
BE T Hh
GB-Ft12.5 58.4 | m2
BE T Hh
GB-Rt12. 5 184.0 | m2
KA TH
GB-Rt9. 5 63.8 | m2
R WrEh
10K/~ 7=t 100 63.8 | m2
HIBE [T ER
10K/~ 7=t 100 156.0 | m2




)

o N = fili | 4= FH | s
(A (H) M)

(T Hbt)

LN

AREIKFE T 21.2 | m2

g B

AR BRI T 165.0 | m2

B

AR EIRRE T 242.0 | m2

KH:

AR FH T 63.8 | m2




)

- ..

p

5 i = fili | 4 FH | s
i " it () ()

(RTFM)

7 ViyMin L

N BE R BE T 43.8 | £F

KITFM

EEE 7 Vvivh Rk TZLHX~@EEET 145.0 | m2

& - &) - B A

MEHE 145.0 | m2




)

%

il

(il
(1)

o2

1

(KRTEH)

A
SKARHG0

18.6

7t
KARH25

34.1

Faf%
KARET5%20

6.2

Faf%
KARE132%20

82.5

f B
KARE200%25

40.5

8—&t




:

e ..

B
" % & i | 4 4|

A (M) M)
BIREUOE T%
R
&N VA ERR 0. 457 B 83.0 | m2
TE
1" M ABAAKY-}t1. 0 83.0 | m2
SRV )
& ey AER 0. 48500 T 10.3 | m
B ALY
& EN T I yAER 0. 48500 T 36.7 | m
FEEL
& EN T  yAEF 0. 48500 T 36.7 | m
R
BN W ) LBk 0. 6PThREHSS 7 JakgikEy | 55 81.0 | m2
V2 AVAZI
Pk =85 M 75.9 | m
BFSETH
Pk =85 M 27.6 | m
IRyl
Pk =85 M 27.6 | m
AR
EEh v ) AERAR 0. 6 N T 49.3 [ m
BERRAKYE) AT
& v )y s SRR 0. 6HE 0T 27.6 | m




:

e ..

B
N 2 =% fili | & | hE

A (M) M)
BERS/AKYE) Wi
BN VLSRR 0. 6ERIN T 17.7 | m
R ELRE /K BT
BN v VLSRR 0. 6ER AN T 2.3 | m
PN
MHEE AR SR 1. 20 T 27.6 | m
ERS3
G 17-138%101 20.5 | m
%
TR 60AH 9.0 | 7PT
B v
TR 60AH 6.0 | 7Pt
EXfil
B L 17-60A 33.7 | m
TRE R
BN v ) AERk 0. 48N T 14.2 [ m
BE L4
& EN T  yAER 0. 48500 T 7.2 | m
g
& EN T I yAER 0. 48500 T 6.0 | 7Pt

9-&t




)

B " |
A 5 ¥ B fifi | 4 |
A (H) M)

10 |&EIL=

(F13ER)

FE 7 A BESL D900

13000 1.0 | 7P

FE 7 A BESRLDI00

12000 1.0 | 7P

W)+

7B B HTEA450 2.0 | 7ifr

(PNER)

BE R.4)

TIvIZEfT 4.7 | m

10—t




)

N 2y = filli | <& |
A (M) M)

11 |([EEL=E

(O

A

TVIVE AT b 13.5 | m2

R

EVVRIE 5 [ B 9.2 | m2

R

TVIVE AT b 21.2 | m2

s T gk b

EVAVA AT 1.6 | m2

K it

EVIVA a7 E o W160 6.8 | m

A=

TVIVE AT b 6.4 | m2

ST

EVAVA AT 1.8 | m2




)

- ..

P % E| ffi | 4 i |
(A (1) (M)
(PNER)
R
BVivaaT T 3.1 | m2
R
BVivaaT T 0.2 | m2
NP N
EVAVAaT W120 72.2 m

11-3t




A

- ..

2 % & B i | 4 % | 45
A (M) M)
12 |&RfRETE

(T3t H)

AD-1

W1682:xH2280 .0 | P
AD-2

W780%H2023 .0 | P
AW-1

W2845%H2023 .0 | P
AW-2

W2845%H1340 .0 | 7P
AW-3

W2845%H1140 .0 | P
AW-4

W1800%H2023 .0 | P
AW-5

W1800x%H1340 .0 | P
AW-6

W1845%H940 .0 | P
AW-7

W640%H940 .0 | P
AW-8

W1845%H940 .0 | P




)

B
% & fifi | 4 W | 1
A (M) ™)
AW-9
W2845%H940 2.0 | 7ir
AW-10
W2845%H540 1.0 [ 7P

12-%t




)

B
N 7 2y == fil | & |
(A (1) M)
13 [ REEAETEH

(OR#dEE H)

WD-1

W920:xH1983 1.0 | Pk

WD-2

W1770%H1983 1.0 | Pk

WD-3

W870xH1998 2.0 [ 7P

13-t




e ED% =

- /\ZZZ'

==F

V\j § N NN /S
: £ 2 B i | 4 B | 15
e fir (F) (F3)
(TVIEEE)
gafbh 74
FL4
HREN T4 20
gR{bh 7 AFL4+AG+5R{bA T 7 AFL4 26.6 | m2
HREN T2 ' -
TR h™ 7 AF4+A6+58 kh ™ 7 AFL4 1.9 | m2
TR T
AEVE T 2
(AR B S
g bh” 74
FL4
U % i
F4
A S
M EVE L3 22.6
. m

14-3




)

N2 = i
A % =¥ fify | 4 K]
A (H) (M)
15 |BETEH
(#M58)
PR EP&&
A h VAR T 21.2 | m2
S\ BE
S Y b7 2 36.8 | m2
AR
WP 4.5 | m2




)

- ..

B
N 2 =% fili | & | hE

A ™) M)

(HED)

R BhEEES

VY ViR 3.1 | m2

mA  BhEEEEHE

VAV 0.2 | m2

mA  0SE

K 18.6 | m

BE ROk 0SE

K 11.6 [ m

% 0SER

A 34.1 m

¥t 0SB

K 88.9 | m

AHIFEE  0SE

Pt 29.6 | m2

15-%t




)

_ y _[E
N 7 Gl = fili | 4 5| 15
(A (H) M)
16 |NAMEETE
(OMED)
BER TR L6
Hi%EE 21.2 | m2
7t
b Zeft 21.4 | m
g B
TR/ MEVIVIEES 0 T ARRKERY MRV VAR £12 36.8 | m2
g\ B
2R T T ) t14 52.4 | m2
g\ B
ZEZEZHAT ) 116 HEIE 75.5 | m2
g B
FHImBH Ky —b 165.0 | m2




AF

B
2 % R fifi | 4 4|
A (M) M)

(HED)
W Jyyas7eTtl. 8
AR 128.0 | m2
R A4 74-ht65
av/)) - 128.0 | m2
mA b =viAH60

48. 2 m
BE o niAARR
I 238.0 | m2
BE A /nx
e 1] 7.2 | m2
I VAVEN S a5i !
1] 4.5 | m2
EEROMx  KHFH25

11.6 | m
B=Fov= Yy RIFEAT

4.3 m
KA =AM
1] 63.8 | m2
fElit
e Zeft 3.0 | m
16—t




)

- ..

B
N 2y = filli | <& |
A (M) M)
17 |2y R OZEOMTE

(O

Fk

FRAEKRMHBREERE oy 77 7y b3k 1.0 |

(HED)

AT -

W2275%D500%H700 1.0 [ 7P

IREnyh-

W6820%D450%H1083 1.0 [ 7P

IREnyh-

W4500%D450%H1083 1.0 [ 7P

YAT AR Ty

L1500 R vy 71 3k 1.0 [JFr

17-%t




)

— N2 = i
N 7 w = fili | 4 5| 15
(A (H) M)

18 |&hEEHILE
71 H— AL

35.0 | m

ENKEKEEHEE IR
7.0 | m2

18-t




Euq i

el
=

o % = B fifi | & B
{iz (1) (1)
A2 |BRRETE
1 BB AT A fi .o | =
2 |HEANEHOEE MR 1.0 | 5K
3 |HEPNACHAER G 1.0 | 5
4 |[RBE SRR 1.0 | 5C
5 |7 VEHFEZIERIM 1.0 | iC
6 |HEAEERE 1.0 | 5

A-1-2-FF




| 3

~t4

p==hi

o 2y = fili | 4= FH | 5
A (M) (M)
1 EER I
A |EATERR 1.o| =
o AT 1.0 | X
/N ok Nyl 1.0 | =X

1-5F




Hﬂ

By L
==

R 2 = B fili | 4 ¥ I
AL (M) (M)
1-A  |[EATERE

EARE
VES2 [=iik 1.0 | m
Tal—7 )b
EM-CET22 Z A5 L 6.0 | m
Tal—7 )b
EM-CET100 &N 1.0 | m
Tal—7 )b
EM-EEF1.6-3C Z AL 6.0 | m
T TR ERR
EM-IE8 &M 12.0 | m
T TR ERR
EM-IE14 &N 1.0 [ m
Ry 7 A¥A

1.0 | =X
BT 7
L-1 1.0 | ™
BT 7
L-2 1.0 | ™
BT 7
L-3 1.0 | M
BT 7
L-4 1.0 | ™




3 ..

~t« il
==

= 2y

n |

fir

(il
(1)

]

1-1 &t




| 3

Ly o
==

7 R % B |H i | 4 |
(A (M) (M)
1-v  [EAT 5l
Tak—7 )
EM-EEF1.6-2C Z A5 L 29.0 | m
Tak—7 )
EM-EEF1.6-3C Z A25 L 80.0 | m
Tak—7 )
EM-EEF2. 0-3C Z A5 L 15.0 | m
Tak—7 )
EM-EEF1. 6-2C A7y7 VIE¥ 8.0 | m
Tak—7 )
EM-EEF1. 6-3C A7y7 VIE¥ 87.0 | m
Tak—7 )
EM-EEF2. 0-3C A7y7 VIE¥ 10.0 | m
RNy 7 A%E
1.0 | =X
FRHEAZR A
A30 1.0 | 1H
FRAAZR A
A48 9.0 | 1A
HEFH &5 B
AG5 14.0 | 1A
FREAZR A
B17 4.0 | 1A




Hﬂ

By L

p==hi

A ¥ B fifi | 4 | 1
A (M) (M)

REAZRE
B22 .0 | fH
REAZRE
C .0 | fH
REAZRE
D .0 | fH
HTTAA T
X1 .0 | fH
HTTAAL T
X2 .0 | fH
HTTAA T
) X1 + PLSX 1 .0 | fH
HTTAA T
F ) X3 + PLS X 1(24H) .0 | fH
HTTAA T
) X4 + PLSX2 .0 | fH
HAz B b
2P15AX 1 ETf .0 | fH
EEJN 2
3A .0 | fH
B K X 1E] B i LB

.0 | X
R B
BB S AE i .0 | fH




3 ..

=1
==
-

o
W
jiE3
n |
1
B
=

R A (H)

- &t




Hﬂ

By L
==

2 R % R |H fifi | 4 |
A (M) (M)
-y |zvtr Rl
Tal—7 )b
EM-EEF2. 0-3C = A72% L 147.0 | m
Tal—7 )b
EM-EEF2. 0-3C 2797 VIE¥ 85.0 | m
Tal—7 )b
EM-EEF2. 6-3C = A28 L 32.0 | m
Tal—7 )b
EM-EEF2. 6-3C 2797 1k 15.0 | m
Ay A¥A
1.0 | =X
Az b
2P15AX 2 Eff 13.0 | &
Az b
2P15AX 1 ETf 3.0 | f&
Az b
2P15AX 2 ETf 1.0 | {&
Az b
2P15AX 2 E « ETf 3.0 | f&
ik=aoto k
2P15AX2 E « ETf 2.0 | 1H
FA=Va=0
77y M 2P15A X 2 Eft 2.0 | 1H




| 3

oy
==

N 2y =% fili | 4 il
A (H) (M)
HiAa o b
2P15AX 1 Eff 200V 2.0 | 1@
HiAa o b
2P20A X 1 Eff 200V 3.0 | &
Bk DX 1] R LB
1.0 | =X

1=t




| 3

.
j==§: =

N 2y = fili | 4 ¥ e
A (M) (M)
TN I B (5 WX Is
ERE
PF22 [k 1.0 | m
Tal—7 )b
EM-UTPO. 5-4P CAT6 Z A7 L 15.0 | m
Ry 7 A¥A
1.0 | =X
TV TVY T
SHmSs 1.0 | {&
Jayay
779 1 SAHSER 1.0 | {&

2-&t




Ly o
==

" % R fifi | 4 W |
A (M) (M)

TN 2R WA A
ERE
VE16 #EH 4.0 | m
ERE
VE16 #hid 1.0 | m
ERE
PF22 [k 1.0 | m
r—7 )
EBT0.4-2P Z AL 14.0 | m
T 3R EE AR
EM-T1E5.5 &N 5.0 | m
Ay 7 A¥A

1.0 | =X
ik
T-1 1.0
TV ATV v
64t 1.0 | {&
oy oy
779 MR 6AH4 1.0 | {&
PR T

1.0 | =X

3—&t




-

~a
==

N i = fili | 4= T4
A (H) (H)
B PR
B —TR 1.0 | iC
N A VFREH 1.0 | =X

53t




| 3

oy

p==hi

P ' = filli | <& B H
(A (M) (M)
4= |Af v H =R
Tal—7 )b
EM-AEQ. 9-2C Z AL 6.0 | m
RNy 7 A%E
1.0 | =X
TLE RT AR
1 1A 1.0 | =X
Bk X 1E] B i LB
1.0 | =X

5 &t




| 3

Ly o
==

N 2 =% fili | 4 | 5
A (M) (M)
411 | hA LR
Tal—7 )b
EM-AE0. 9-2C Z AN L 13.0 | m
Tal—7 )b
EM-AE0. 9-4C Z AN L 10.0 | m
Ry 7 A¥A
1.0 | =X
a2 — L
1.0 | {&
o — LRIBIE
1.0 | {&
MR &
BlEOb AT E 2.0 | 1H
B K X 1E] B i LB
1.0 | =X

4-mEt




Ly o
==

N 2 =% fili | 4 | 5
A (M) (M)
7 L B FESZE M
ERE
PF22 [k 1.0 [ m
Tak—7 )
EM-S-5C-FB =AM L 22.0 | m
Tak—7 )
EM-S-5C-FB  #7y7" V1E ¥ 12.0 | m
Ry 7 A¥A
1.0 | =X
EY|2=v k
H 2.0 | 1H
B |z=v k
SHA 1.0 | {&
AR
1.0 | =X
Bk X 1E] B i LB
1.0 | =X

53t




By L
==

P o i | 4 | i
(A (M) (M)

A TCER
ERE
VE16  FEH 6.0 | m
ERE
VE16 Hi 7.0 | m
ERE
HI82 FEH 11.0 | m
QAR L ) ERE
76 B = )LHKFE - BhK 2.0 [ m
Tak—7 )
EM-CET100 “&WN 13.0 [ m
Tal—7 )b
EM-CETI00 A vt HEY 27.0 | m
T 3R EE AR
EM-1E14 &N 13.0 | m
AvkrTVy—UA¥—
5bsq 27.0 | m
BRI RO AR 5T B
Ayt —UA¥— 55 1.0 |FEfH
5 1A BH PR
L-M 1.0 | M
a7 Y — ME
10M=190 ¢ —3. 5kN R A>3k 1.0




| 3

~t4

p==hi

-Hi e

N 2y == fili | 4 | ks
AL (M) (M)
TERERS
IRER - BT EI 1.0 | =X
BRIEIR X R &)
1.0 | =X
T HE
1.0 | =X
+T=
1.0 | =X

6-3t




)

N2 = i
A % =¥ fify | 4 K]
i (1) 1)
A-1-3 Ml L&
1 ietecEnmTE 1.0 |50
2 |ZEmRERiETE Lo | =

A-1-3-%




:

e ..

’ W B i | 4 i |
A (H) M)
1 KK fir A iR T2
1-1  |ESM KR T o | =
1-2  |ENRaKEE TE o | =
1-3  |EAMEKEE LF o | =
1-4  |BENHEKEE LE o | =
1-5  |frAge Bikim L= o | =
1-6  |fiGakin L o | =
1-7 VB KEE L .0 | =K
1-8 | iR fm T o | =

X2Fis




=

i 3=t

A 7 % = B fifi | & RH| 1
{7 (1) (1)
1-1  |BAMEKER (T
MiET P A -V HIVP  20A  #fiep 65.0 | m
WA= 7% VA 204 R4 2.0 | m
fEUIF JIS10K= 7 20A 2.0 | &
fEB)FFBOX  B-1 2.0 | A
AR L (BONE ) 1.0 | X
R THE 1.0 | K
WA 1.0 | K
A FL4y kAR ¢ 75mm X ¢ 20mm 1.0 | &K
RYTF LU ¢ 20m 16.0 | m
RGO R L GERNES) BEREERES T 1.0 | &K
EEET A-5-15 3.9 | m2
By X — AN 14.0 | m

11D




Eﬁ

. - « M
=

" W B | M itf | 4 |
{7 (1) D)
1-2 | BRI L
MEER R (L e =— L%  HIVP 200 —j% 7.0 | m
WeIA = 78 VA 20 —f% 2.0 | m
MHEEE( e =—/%%  HIVP 20A f#pr 10.0 | m
BEeIAA = 7% VA 20A 1EFT 2.0 | m
HEFEORE LE 1.o | K
RETHEE 1.0 | X
A —T7 T 1.0 | &

1-200%




- /\ZZZ
=l

- . - A ‘
N B Py B {j B ( Pgﬂ)ﬁ & o (P%:)\ T4
1-3 | BEAEKER I L=
R L =V VP B0A it 10.0 | m
MR o)V VP T5A it 12.0 | m
Mg e =& VP 100A  Hiep 87.0 | m
g MR ke Ve VP T5A B4 4.0 | m
NOBHKE 100-200-L g B 300H 1.0 | 1&
NOBIHKE 100-200-90Y B 320H 1.0 | 1&
NOBHKE 100-200-90Y B 330H 1.0 | 1&
NOBHKBE 100-200-90Y B 360H 1.0 | 1&
NOBHKE 100-200-L g B 310H 1.0 | 1&
NOBHKE 100-200-L g B 380H 1.0 | 1&




:

= e = E N
N AR 2 e (Pgﬂ)ﬁ 2 pﬁ/) 1
NOBEIEAKBE 100-200-L g B 200H L0 | &
NOBEIEKME 100-200-90Y  HE B 220H L0 | &
/NOBEVEKME 100-200-90Y  HE B 290H L0 | &
NOBEIEKME 100-200—90Y HEE 310H L0 | &
NOBEVEKME 100-200-90Y  HE b 330H L0 | &
NOBEVEKME 100-200-90Y  HE B 220H L0 | &
NOBEIEAKBE 100-200-L B 200H L0 | &
NOBEIEAKBE 100-200-L HE e 210H L0 | &
NOBEVEKME 100-200-90Y  HE B 220H L0 | &
NOBIEAKBE 100-200-L HE B 250H L0 | &
NOBEIEKME 100-200-90Y  HE B 290H L0 | &
/NOBEVEKME 100-200-90Y  HE B 300H L0 | &




- /\:::
B

N BN % = B fifi | & BE| T
{ir (1) (1)
AINORIEKE 100-200-90Y Mg E 340H 1.0 [ 1
3/))-MpE - 300X300 K& 200H 1.0 [ 1
N yFU=h- T5A 1.0 [ 1
DR LE 1.0 [ 3
ESeVEICE ¢ 1.0 | X

1-303t




Eﬁ

. - « M
=

" W B | M itf | 4 |
{7 (M) 1)
1-4  |BAHEKERE LF
PR V8 VP 50A  —fix .0 [ m
S oV VP 40A  fEFT .0 | m
L oV VP 75A  fEFT .0 | m
AL =V VP 100A  {EFT .0 | m
PE ERBREO COA  100A L0 | 18
RV @RI L0 | 18
HEFEOR LE N
RETHEE 0 | K
A —T7 T .0 | K




)

- o

A %

il

fir

(il
(1)

o2

1

1-4DFt




- /\:::
==k

A 7 % = B i | 42 BE| T
{ir (1) ()
1-5  |F/ERs Bl LI
VEJEVE RS SH232BA (n—4v7) | TCF6542 (V4V2by}) L0 | 18
M 2 A S AR L0 [ &
F4v ) EEgBEIL L0 [ &
F90 Bkl BEESBEIL L0 [ &
emgs  BHEKEE, £ oMm—=3k .0 | fH
{LPESE  300X700 L0 | fE
VelErk s L0 [ &
VeliEKe L0 [ &
NEKFR .0 | 1&
A—okie (30 L0 | &




)

=
o 2y == fil | & FH | 5
A (H) (M)
okt (F—X) 1.0 | 1@
BRI B-3 1.0 | 1&

1—503




- /\ZZZ
=l

— I =, N /\ %? T%
= 5 = == fii | 4= H
i " fir () ()
1-6  |faiGalE L5
EH-1 [/IVHESEAKSE  BER gOHWRE  12L Zofh—=dt 1.0 | #

1-6D&t




- /\:::
B

" : = L ) (D)
1-7  |[TE kR s T
TH K25 ABC 107 1.0 | &
TR I Lol

1=




- /\:::
B

A

R

il

,

fih
()

2

()

1

1-8

HA IR T 5

el Mt

1.0

1-8DF




- /\ZZZ'

h=cf

” W B | M i | 4 | 1
{ir () (1)
2 |ZedEiE T
2-1  |MdsaxiE T 1.0 | 5
2-2  |BoERRfE TF Lol =
2-3  |MARERE T % Lo | st

2 D




Eﬁm

_\/\_
=

_ e ol Pl N
2 B # & " B (P@ & % 1
2-1  |HEsakim L=
RAC-1 [p=bxyay BEEMNTIE 9. Okw/BE 10. 6kw 3.0 | &
RAC-2 [V—bx7ay BEENTIEZ B 4. Okw/BE 5. Okw L.O| &
EWTEE 1.0 | &

2-1D&




:

e ..

" B R| ifi | 4 |
I7A (M) )
2-2  |BlEERIW LE
M REIE WK 6.4¢ 26.0 | m
MERPBHRE 2 9.5¢ 5.0 | m
MEERPEBIRE 2 12.7¢ 21.0 [ m
BUEHALL oVE VP 26A —fR 28.0 | m
HEFEORE LE 1.0 [
(RIE TH & 1.0 | X
“RARIEOAR T 1.0 | X
ENETI=PERaB= - 1.0 | 5K
A —7 THE& 1.0 | 5

2-2D &t




W

_\/\
==

il

ol

A B | H 1
A () (1)

2-3  |[#KERIE L

BEHL S
F-1 [360m3/H /7Pa SUSYxz# —in -, filh— 3t 3.0 | #2
PF-1 |47 77/ 120m3/H 5Pa #&¥447" . SUSTEALT-} 2.0 | #A
RF-1 [{@A7-}"  SUS 1.o | 1@
0A-1 &8 KV Vv, BEMIE, T4Vi—fF, SUSEERLT-L | fh—= it 4.0 | #A
CF-1 |¥-Vv1" 777  RHE 90cm 1.0 | #8

INATVET T 150 ¢ 1.0 | m

2_30) 5]

iy




)

- o

A

%

il

(il
(1)

o2

1

A-2

O TE

A-2-1

SME L

1.0

A-2-3}




)

- o

B
% & ff | 42 |
I ™) ™)
A-2-1 [FMET=EH
1 JMETHE
1.0
2 WEITEH
1.0

A-2-1-3t




)

- ..

B
% B fifi | 4 | 1
A (M) (1)
SMETE
VS X T
SR W100 302 | m
p7n=7"
9mm 25.0 m

1-5F




)

- ..

B
N 2y == fil | & FH | s

(A (1) M)

MET=HE

A

120x120 L1300~2300 0.15 | m3

P i X TR

W120 12.5 | m

AR

H1. 0 W1. 0 fRE- (iR - fEA L 8.0 | &K

HhoR

H3.0 C0.3 W3.0 {XEE- (kiR - fEhiA L 13.0 | &

AR

H5.0 CO.5 W5.0 {&EE- (kiR - fihiA 3L 3.0 | &

AR

H6.0 CO.6 W6.0 {NEE- kiR - fEhiA L 3.0 | &

2-&t




)

- ..

B
N 2 = filli | <& | hE
A (M) M)
D |BEMUSE
D-1 (&I
1.0 | =X
D-2 PMET=E
1.0 | =X

D-&t




)

=
% R i | 4 |
{7 (1) ()
D-1 [T =HE
A
A L 17.7 | m3

D-1-%f




)

- ..

B
A ¥ O fifi | 4 G
A (M) M)
D-2 PMETE

FEAEMFRIA

HERRay)) -} 0.15 | m3

A ER

R/ =) 0.2 | m3

MG

R/ =) 0.2 | m3

SAEMERLS (3. 56RE)

R 1.0 | =X

FAEMERL S (3. 061EE)

IS 1.0 | =X

D-2-7t




)

" ..

B
. % & i | 4 |
A (M) M)
B-3 |HEEE (EL)
y/A RV
H1.8 4.5/ H RN
Y= =h
W3.6 H4.5 .0 | P
ZiEFEE (1)
Aoy AREEEM LR GH XIARE) .0 | X
AV
4.9tH Y .0 | =
L F W E R ERIE
N yy7 BIE 654y 34 B .0 | X
FE H EE A
.0 | X

B-3-&t




